B L L L

30‘_0“
q
ELE(TR'CAL LEGEND 6'_0" N 10‘_4" , 6I"2“ ) 7!_6“
| J Dl
WP/GFI Z o
& 3050 SH 3050 SH (ﬁ) ~ 306§ INS % QIR
CEILING IN [ 1= i i I i g D |«
(PRE-WIF FOR LIGHT KIT) e o . @ 0 3% >
. 4]
% Vi H.B % (=
S 2 ‘ S
Qp DOUBLE CURITY _ N / : 5 SOFTPWN
LIGHT --C) g @: 3 o / :T é -63 ACHITECTURAL DESIGN SOFTWARE
o RECESSH CAN LIGHT 5 =12 1208 j : S e | 2
® BATH EXAUST FAN > i / - PSS / e
Q LIGHT FISURE ! o/ 5 ; /
) -¢2- ;
—(!)— =g BRACE & PRE- =
) DUPLEX UTLET N — — - — ! o BRACE & PRE- S WIRE FOR €16 \\ i ) ; d 2
(= WIRE FOR CL'G FAN BY OTHERS d @
b 220v OUET w FAN BY OTHERS © N
P~ \ Ll
e GFI DUPLX OUTLET T 2 ~ 1 @ . i
[=e]
v e i < e
1 TELEVISIN JACK - 0 5
— = = 1 " " e =
PH 5 = % T o @ r el N—B » \81.'0 12 @
Vi TELEPHCE JACK 4 = EEREES 2 ~ & %
S SMOKE LTECTOR (see note below) a B ) i) " B
= - 2) 2668 H b B
¢ WALL SWCH . GRS HE % w(p 200 AMP :|:IELECI'.
e I B | f{l ELECT. METER  _ i
$3 3 WAY W_L SWITCH j r‘:? . ROD & SHELS /f ] PANEL . ;r) -_-CIJ Z E'-i:
(hweiri | WATER ROOF GFI OUTLET - @ = ; / A3 Q|
B~ S . e ! [ = [
48" FLOUR. | |2 OR 4 T8 FLUORESCENT FIXTURE | =8 / / E (Lﬂ B
= ] .
= L) g o
REAR ELEVATION : [ o+ [ i
SCALE: 1/4" = 10" P %: ,
R30 INSULATION = § l ; T D
| [ g o LLI
- FIBERGLASS SHINGLES [=e] | 48" FLOUR. o o et (WA ST e, Sy 48" FLOUR. :l I L 8 ?n w
" ROOF SHEATHING \\\ 8
1
5o Bo P N <5 b o
— - e B YL e O oy . ey R ) R TV o e LLd
o = = — = = = —— — — — >0z A Zz0Z = N
PREENGINEERED WD TRUSSES AT 24" OC — = = = — — Z<l Z <l 3
= — —————— —— = =
= == - — === - = £ 30 550 GHE
= = === = =0 ! 5x9 53
— = — — e — 2 vy g
\mmmmmmmmmm 12 = == = = ——— = _—__ — ; "ID" %
—— — —= — . e 9
AVTVIOTOLALAIALALOEOIOLY =—— — — = iR ‘.
P = ——— —— — = = _ B o
= e = = = e ———— — = i i
é = = = - = — = m— = - - - = = — — — = < <
= — = — = m— H.B."] d)
e i e e ——— S — — =" — = = — — - —— - — (tbaa
1/2" GWB (E) <+—————— REFINISHED ALUMINUM DRIP e == — — = 1 & & & l l |
% o 10x 8 OHD M % &0
LUMINUM FASCIA i o L i T WP — - A | —- m
C>> |- N PT 2X6 SUB-FASCIA I i J' 15-0 ) 7'-6 |
= X\ | gy 30-0" ! 0
PREFINISHED VENTED ) o '_
ALUM SOFFIT SYSTEM =) R S
2 SP #2 2X4 WOOD PLAZ. ——— PARKING RAMP
= — 'VERIFY W/ CONTRACTOR) U .
NOTE: SEAL ALL PENERRATIONS WITH ST / / O
JUL APPROVED FIRE RAD CAULK. /& /& a—— _I
! 18" TYPICAL ;
= i 12" ON GABLE ENDS k -
z NOTE:
2 e | e ALL BEDROOM RECEPTACLES SHALL BE AFCI A R E A S U M M A R Y >_ e
% 4 2% 4 SP #2 STUDS AT 160C W/ (ARC FAULT CIRCUIT INTERRUPT) O
E = RIZBATE:INSLLAON LEFT ELEVATION ALL SMOKE DETECTORS SHALL HAVE BATTERY EACKUP POWER TOTAL AREA 1050 S.F. m —_
m (C e AND ALL WIRED TOGETHER SO IF ANY ONE UNIT IS ACTUATED THEY b—
u SCALE: 1/4" = -0 ALL ACTIVATE
-3 VINYL OR HARI-PLANK IP SIDING OVER WALL SHEATHING : q (_)
THE ELECTRICAL SERVICE OVERCURRENT PROTECTION DEVICE SHALL BE D
INSTALLED ON THE EXTERIOR OF STRUCTURES TO SERVE AS A DISCONNECT MEANS.
CONDUCTORS USED FROM THE EXTERIOR DISCONNECTING MEANS TO A PANEL OR SUB (n'd
PANEL SHALL HAVE FOUR-WIRE CONDUCTORS, OF WHICH ONE CONDUCTOR
5 SHALL BE USED AS AN EQUIPMENT GROUND. —-
i
Ty j Z| v
o
o Ols
% i B O &
= oZ 3 Q|2
> 5 e
i o 4" REINFORCED CONCRIE SLAB g E 3
1/2" GWB &) D 8 (D v,
WOOD BASE
C> e — P — = Rt e e —— e e
%% J OVILLIAM MYER.S
DESIGN
L P.O. BOX 1513
=1 2x4 PT SP #2 SOLE PLAT = SIST 1 a1l AKE CITY, FL 32056
i &l = 386) 758-8406
““““““““““““““““““““““““ il = i y @ @ d will@willmyers.net
- oy EH = F STUCCO FINISH, OPTIOMN. . S x s .
= T "_‘J — ] =! ] [ ] =1 ! i
H | Be z 8" CMU STEMWALL FOUDATION SYSTEM = ) =) ——— S
=5 g | |
% : % N—=1 N— 7 el
C /7' EX FINISH GRADE SIS
/ —_ - - — I : — - - — —_— - —— - — | — =
- 1 g |
B =
5 E RIGHT ELEVATION FRONT ELEVATION
e S RGALE: Lo SCALE: 14" = 1-0°
E " H 10B NUMBER
5 P RTINS REIEEHE A S L Garage fire separations shall comply with the follohwing: 070502
E 1. The private garage shall be separated from the dwelling unit annd its attic area by means 2. Ducts in a private garage and ducts penetrating the walls or ceilings separating the
I of a minimum %%-inch (12.7 mm) gypsum board applied to the garaage side. Garages beneath dwelling unit from the garage shall be constructed of a minimum 0.019-inch (0.48 mm) {EET NUMBER
O O habitable rooms shall be separated from all habitable rooms abovee by not less than 5/8-inch Type X sheet steel and shall have no openings into the garage. S U
gypsum board or equivalent. Door openings between a private ganrage and the dwelling unit shall be i . _ .
equipped with either solid wood doors, or solid or honeycomb coree steel doors not less than 13/8 inches (34.9 3. A separation is not required between a Group R-3 and U carport provided the carport is A 1
mm) thick, or doors in compliance with Section 715.3.3. Openings s from a private garage directly into a entirely open on two or more sides and there are not enclosed areas above. S
TYP'CAL WALL SECTl ON room used for sleeping purposes shall not be permitted. ' y ) L :
" 4. When installing an attic access and/or pull-down stair unit in the garage, devise shall M C OF 1 SHEETS
SEAlE e have a minimum 20 min. fire rating.

NMERE W |




ANCHOR TABLE GENERAL NOTES: REVISIONS

. UNBLOCKED " = OBTAIN UPLIFT REQUIREMENTS FROM TRUSS
SA?LE%S_?ORSSSFSESAA;?&GS R NALS 716" STRUCTURAL ROOF SHEATHING MANUFACTURER'S ENGINEERING TRUSSES: TRUSSES SHALL BE DESIGNED BY A FLORIDA LICENSED ENGINEER IN ACCORDANCE WITH THE
B B AES 1500 FIELD, &' O.C. GABLER FBCR 2004. TRUSS ENGINEERING SHALL INCLUDE TRUSS DESIGN, PLACEMENT PLANS, TEMPORARY AND
C: . ; IGGER @ 48" OC. . = PERMANENT BRACING DETAILS, TRUSS-TO-TRUSS CONNECTIONS, AND UPLIFT AND REACTION LOADS FOR
. 2K OUTR @ SORRICANE CUIR 25 O EauAD U TLES BT [WLRTERS.ACF)) | TRUSGEANNECTDE: | POPLATES) | 7O RAFTERITHIIS LS ihils ALL BEARING LOCATIONS. TRUSS ENGINEERING IS THE RESPONSIBILITY OF THE TRUSS MANUFACTURER
AT 24" O.C. SELECT TRUSS CONNECTORS o ' < 420 < 245 H5A 3-8d 3-84 AND SHALL BE SIGNED & SEALED BY THE MANUFACTURER'S DESIGN ENGINEER. IT IS THE BUILDER'S
FROM THE ANCHOR TABLE BLOCKING REQUIRED BETWEEN OUTRIGGERS —— 48" OC. RESPONSIBILITY VERIFY THE TRUSS DESIGNER FULLY SATISFIED ALL THE ABOVE REQUIREMENTS AND TO
PER TRUSS UPLIFT LOADS < 455 < 265 H5 4-8d 4-8d SELECT UPLIFT CONNECTIONS BASED ON TRUSS ENGINEERING UPLIFT AND PROVIDE FOOTINGS FOR
2X4 BARGE RAETER CONT = INTERIOR BEARING WALLS. BUILDER IS TO FURNISH TRUSS ENGINEERING TO WIND LOAD ENGINEER FOR
FOREESE THAN 1800 1 URLIFF GSE (3).131 X 3 1/4 * GUN NAILS : < 360 < 235 4 4-8d 4-8d REVIEW OF TRUSS REACTIONS ON THE BUILDING STRUCTURE. STRAP 2X6 RAFTERS WITH MIN UPLIFT
5% 2 X 116" WASHER wl 172 HEXNUT T = e 25d o CONNECTION 415L8 EACH END; 2X8 RAFTERS 700 LB EACH END.
R LESS THAN 3750 Ib UPLIFT USE
g?c 3 X 1/8" WASHER w/ 1/2* HEX NUT 2X4 BLOCKING @ SHEATHING JOINT SHINGLE STRIP < 415 < 365 H2.5 5-8d 5-8d SITE PREPARATION: SITE ANALYSIS AND PREPARATION IS NOT PART OF THIS PLAN
4' FROM GABLE END
< 600 < 535 H2.5A 5-8d 5-8d FOUNDATION: CONFIRM THAT THE FOUNDATION DESIGN & SITE CONDITIONS MEET
2) 2x4/6 SYP #2 DOUBLE TOP PLATE GRAVITY LOAD REQUIREMENTS (ASSUME 1000 PSF BEARING GAPACITY UNLESS RCHITECTURAL DESIGN SOFTWARE
@ v RASCE i S 8% i) ipe 8.8 VISUAL OBSERVATION OR SOILS TEST PROVES OTHERWISE
¥ < 745 < 565 H8 5-10d, 11/2" |  5-10d, 11/2" |
H, ﬂ E' 1P CONCRETE: MINIMUM COMPRESSIVE STRENGTH OF CONCRETE AT 28 DAYS, F'c = 3000 PSI. |
| TOP CHORD OF GABLE END TRUSS < 1465 < 1050 H14-1 13-8d 12-8d, 11/2" |
2X4 SCAB CONT. TOP TO 2] 2.0 DROP 3 1/2° eV AT T e P TREET WELDED WIRE REINFORCED SLAB: 6" x 6" W1.4 x W1.4, FB = 85KSI, WELDED WIRE REINFORCEMENT FABRIC |
s BOTTOM J (W.W.M.) CONFORMING TO ASTM A185; LOCATED IN MIDDLE OF THE SLAB; SUPPORTED WITH APPROVED i
: D@ 8 FROM GABLE _ : - . MATERIALS OR SUPPORTS AT SPACINGS NOT TO EXCEED 3.
SENTAIL BENETTIONG CHORD@ | CONT. 2X4 SCAB FROM TOP TO < 990 < 850 H10-1 8-8d, 11/2 8-8d, 1 1/2 |
IN TOP PLATE AND FIRE i BOTTOM CHORD @ X-BRACING < 760 < 655 H10-2 6-10d 6-10d FIBER CONCRETE SLAB: CONCRETE SLABS ON GROUND CONTAINING SYNTHETIC FIBER REINFORCEMENT.
STOP BLOCKING WITH CODE 24" MAX l 4 -10d NAILS OR 4 - .131"x 3.25" (PROVIDE ADDITIC%JAL 2X4'S @ = R AR R FIBER LENGTH 1/2 INCH TO 2 INCHES. DOSAGE AMOUNTS FROM 0.75 TO 1.5 POUNDS PER CUBIC YARD
APPROVED SEALANT ¢ ) TYPICAL AT ALL CONNECTIONS : <1470 s ki 2-10d, PER THE MANUFACTURER'S RECOMMENDATIONS, FIBERS TO COMPLY WITH ASTM C 1116. SUPPLIER '
VERTICAL IF HIGHER THAN 48", <1470 < 1265 H162 10-10d, 1192|2104 112 TO PROVIDE ASTM C 1116 CERTIFICATION OF COMPLIANCE WHEN REQUESTED BY BUILDING OFFICIAL. .
) ) TO FORM AN “L" SHAPE.) : ' |
2X4 SCAB IF VERT. WEB IS < 1000 < 860 MTS24C 7-10d 1 1/2 7-10d 1 1/2 |
NOT PRESENT o s s T T PET N e CONTROL JOINTS: WHERE SPECIFIED, SAWN CONTROL JOINTS IN SLAB-ON-GRADE SHALL BE CUT IN
] TOE NAIL TRUSS TO DOUBLE ACCORDANCE WITH ACI 302. JOINTS SHALL BE CUT WITHIN 12 HOURS OF SLAB PLACEMENT. THE LENGTH /
i w/ 16d COl 8" OC. 1 WIDTH RATIOS OF SLAB AREAS SHALL NOT EXCEED 1.5 AND TYPICAL SPACING OF CUTS TO BE 12FT. DO NOT '
PLATE Ll <4l C el “igiGes CUT WWM OR REINFORCING STEEL. (RECOMMENDED LOCATION OF CONTROL JOINTS IS SUBJECT TO ‘
> < 2050 < 1785 LGT2 14 -16d 14 -16d OWNER AND CONTRACTOR'S APPROVAL. THE CONTROL JOINTS ARE NOT INTENDED TO PREVENT CRACKS
4 BUT RATHER TO ENCOURAGE THE SLAB TO CRACK ON A GIVEN LINE.)
2x4/6 SPF#2 PRECUT STUDS AT 16" O.C. CONT. 2X4X8' #2 SYP LATERAL . | A BOTTOM CHORD OF GABLE HEAVY GIRDER TIEDOWNS* TO FOUNDATION
S G TABLE BRACE @ 48" OC END TRUSS REBAR: ASTM A 615, GRADE 60, DEFORMED BARS, FY = 60 KSI. ALL LAP SPLICES 40 * DB (25" FOR #5 BARS);
- 1-5/8" THREADED ROD UNO. ALL REINFORCEMENT SHALL BE DETAILED AND PLACED IN ACCORDANCE WITH ACI 315-96, U.N.O.
< 3965 < 3330 MGT 22-10d 12" EMBEDMENT
N
A I ﬁfﬁ?ﬁgg){gggﬁfe '??TO%%SS&R.’ 0.C. (UN.O) i 2 - 2X4 TOP PLATE 2.5/8" THREADED ROD GLULAM BEAMS:  GLULAM BEAM, GLB, 24F-V3SP, Fb = 2.4ksi, E = 1800ksi; UNO. SUPPLIER MAY SUPPLY AN
MM SRyt e g aine et e = < 10980 < 6485 HGT-2 16-10d 12" EMBEDMENT ALTERNATE BEAM WITH EQUAL PROPERTIES OR MAY SUBMIT THEIR OWN SIZING CALCS.
BT ROy DR EACRVAID TIES ERGtY SR SIMPSON LSTA 24 @ 48" OC ROOF SHEATHING: ALL ROOFS ARE HORIZONTAL DIAPHRAGMS; 7/16" OSB SHEATHING, UNBLOCKED, .
GOVER BOLT TO TOP OF PLATE 2X4 BLOCKING @ 48" OC / N @ - < 30840 <5088 HGT-3 16-10d 2-5/8" THREADED ROD APPLIED PERPENDICULAR TO FRAMING, OVER A MINIMUM OF 3 FRAMING MEMBERS, WITH PANEL EDGES
: 12" EMBEDMENT STAGGERED, FASTENED WITH 8d COMMON NAILS (.131), 6°0C PANEL EDGES, 12°0C INTERMEDIATE ‘
BETWEEN GABLE AND FIRST Sistie e R THREIEED B0 MEMBERS, GABLE ENDS AND DIAPHRAGM BOUNDARY; 4'0C, UNO.
T S AL SHEATHRG TRUSS. @ ' < 9250 oE HET-4 190k 12" EMBEDMENT STRUCTURAL CONNECTORS:  MANUFACTURERS AND PRODUCT NUMBER FOR CONNECTORS, ANCHORS,
x 0" OC. - AND REINFORCEMENT ARE LISTED FOR EXAMPLE NOT ENDORSEMENT. AN EQUIVALENT DEVICE OF THE
gf’ gg "é‘ggg T?-"E)Sc FIELD 2X4 X-BRACE @6 STUD STRAP CONNECTOR TO STUDS SAME OR OTHER MANUFACTURER CAN BE SUBSTITUTED FOR ANY DEVICES LISTED IN THE EXAMPLE
» TABLES AS LONG AS IT MEETS THE REQUIRED LOAD CAPACITIES. MANUFACTURER'S INSTALLATION
UNLESS OTHERWISE NOTER < 435 o Cm g ] e ol INSTRUCTIONS MUST BE FOLLOWED TO ACHIEVE RATED LOADS.
ON STRUCTU LA < 455 < 420 SSP SINGLE SILL PLATE 1-10d 4-10d
ANCHOR BOLTS: A-307 ANCHOR BOLTS WITH MINIMUM EMBEDMENT AS SPECIFIED IN DRAWINGS BUT NO
4 CONCRETE TYPICAL GABLE END ( X-BRACING < 825 < 825 DSP DOUBLE TOP PLATE 6-10d 8-10d LESS THAN 7" IN CONCRETE OR REINFORCED BOND BEAM OR 15" IN GROUTED CMU. |
< 825 < 600 DSP SINGLE SILL PLATE = 8-10d WASHERS: WASHERS USED WITH 1/2" BOLTS TO BE 2" x 2* x 9/64"; WITH 5/8" BOLTS TO BE 3" x 3" x 9/64" WITH |
ALL MEMBERS SHALL BE SYP T 855 < 760 SPa 6-10d, 112" 3/4" BOLTS TO BE 3" x 3" x 9/64"; WITH 7/8" BOLTS TO BE 3" x 3" x 5/16"; UNO.
< 1240 < 1065 SPH4 10-10d, 1 1/2" NAILS: ALL NAILS ARE COMMON NAILS UNLESS OTHERWISE SPECIFIED OR ACCEPTED BY FBC TEST I
REPORTS AS HAVING EQUAL STRUCTURAL VALUES.
< 885 < 760 SP6 6-10d, 1 1/2" |
< 1240 < 1085 SPHe 10-10d, 1 1/2"
"
< 1235 < 1165 LSTA18 14-10d BUILDER'S RESPONS|B"_.|TY
Jﬁn"m"ﬂ' ET&%E%R BNT b < 1235 < 1235 LSTA21 16-10d
MAY BE USED INSTEAD < 1030 < 1030 €S20 18-8d THE BUILDER AND OWNER ARE RESPONSIBLE FOR THE FOLLOWING, WHICH ARE
OF EPOXY | e —— = Y SPECIFICALLY NOT PART OF THE WIND LOAD ENGINEER'S SCOPE OF WORK.
Qo =9 STUD ANCHORS" TO STUDS TO FOUNGATION CONFIRM SITE CONDITIONS, FOUNDATION BEARING CAPACITY, GRADE AND
= < BACKFILL HEIGHT, WIND SPEED AND DEBRIS ZONE, AND FLOOD ZONE.
5 P < 1305 LTT19 8-16d 1/2" AB
5 =5 PROVIDE MATERIALS AND CONSTRUCTION TECHNIQUES, WHICH COMPLY WITH FBCR 2004

LTTI31 18-10d, 1 1/2" 1/2" AB REQUIREMENTS FOR THE STATED WIND VELOCITY AND DESIGN PRESSURES.

HD2A 2-5/8" BOLTS 518" AB PROVIDE A CONTINUOUS LOAD P TRUSSES TO FOUNDATION. IF YOU |
578" ) A ' TH CONNECTION, CALL

SEE FOUNDATION <L*
DETAILS
1 3/4" EDGE DISTANCE"

UBLE 2x4 SPF TOP
"OGETHER W/2-16d N

SINEERING INCLUDES TRUSS
ANENT BRACING DETAILS,
EACTION LOADS FOR ALL |

ONE STORY WALL SECTION

SCALE: 3/4"=1-0"

CONTINUOUS FRAME
TO TOP PLATE AT
BOTTOM CHORD OF T

“E WITH FBCR 2004, SECTION
AND BEARING LOCATIONS IN

EXTERIOR WALL STUD TABLE FOR S

: WINDLOAY ENGINEER: Mark Disosway,
ALL DETAILS OF THE PE No.5345, POB 868, Lake City, FL
THE TRUSS 32056, 38+754-5419

BY A DESIGN

(1)2x4 @ 16" OC | TO 119" STUD HEIGHT, 2001 REQUIRED DIMENSIONS:
30NSHBLE TO Stated dinensions supercede scaled
E TRUSS'ROOF dimension. Refer all questions to
_ iso P.E. for resolution.
" Q" IGHT SYSTEM AS A WHOLE AND TO PROVIDE RESTRAINT. FOR ANY LATERAL Mark Disoway, P. HRIC
(1) 24.@1270C, | 70 180" STUD/HE BRACING. THE BUILDER SHOULD USE CARE CHECKING THE ROOF Do not proeed without clarification.
DESIGN BECAUSE THE WIND LOAD ENGINEER IS SPECIFICALLY NOT

COPYRIGITS AND PROPERTY RIGHTS:
(1) 2x6 @ 16" OC 10 18-10" STUD HEIGHT RESPONSIBLE FOR THE TRUSS LAYOUT WHICH WAS CREATED BY THE

TRUSS MANUFACTURER AND THE TRUSS DESIGNER ALSO DENIES NotcliEgway, bk tisshyexpesanty possves

its commai law copyrights and property right in
RESPONSIBILITY FOR THE LAYOUT PER NOTES ON THEIR SEALED these ir];g?nments Efy sgn.rice, Th?s dpocuf'ne?\l is
TRUSS SHEETS.

not to be rproduced, altered or copied in any
form or maner without first the express written
permissiorand consent of Mark Disosway.

ALL STUDS TO BE 2x4 ——
SPF NAILED TO TOP
AND BOTTOM PLATES
WITH 2-16d NAILS

(1)2x6 @ 12" OC TO 20.0' STUD HEIGHT

THIS STUD HEIGHT TABLE IS PER WFCM 2001, TABLE 3.20B,
EXTERIOR LOAD BEARING & NON LOAD BEARING STUD LENGTHS

DESIGN DATA

CERTIFIC\TION: | hereby certify that | have

examined 1is plan, and that the applicable
RESISTING INTERIOR ZONE WINDLOADS 110 MPH EXPOSURE B. portions ofhe plan, relating to wind engineering
Eggi ngs“ﬂ?rﬁ?ﬁ?éé TBg ’gﬂggggggg E; F?gﬁggg;g«tg%?”e CONTIN UOUS FRAME T/ WIND LOADS PER FLORIDA BUILDING CODE 2004 RESIDENTIAL, SECTION R301.2.1 coanply wj; f;etlrtlz%r}j ?31{21 ti;“,; ﬂ;ridfa building
3 code resignia s e besl of my
EXAMPLE 16" 0.C. x 0.85 = 136" O.C. CEILING DIAPHRAGM DTAIL (ENCLOSED SIMPLE DIAPHRAGM BUILDINGS WITH FLAT, HIPPED, OR GABLE ROOFS. knowledge
: MEAN ROOF HEIGHT NOT EXCEEDING LEAST HORIZONTAL DIMENSION OR 60 FT; NOT Thi At
S NS GRADE & SPECIES TABLE ON UPPER HALF OF HILL OR ESCARPMENT 60FT IN EXP. B, 30FT IN EXP. C AND >10% e iadipnat Lo Sl
R — SLOPE AND UNOBSTRUCTED UPWIND FOR 50x HEIGHT OR 1 MILE WHICHEVER IS LESS.)
= BUILDING IS NOT IN THE HIGH VELOCITY HURRICANE ZONE ?“AFEKED;%%?;VAY
FORLESS Thal bonibUEtIETLISE FoAps|1E(10- pei BUILDING IS NOT IN THE WIND-BORNE DEBRIS REGION e
e o
NON-SUPPORTIVE (| [PSTOWALLSTRAPS ARE NAILy gy FOR LESS THAN 3750 Ib UPLIFT USE 2x8 SYP #2 1200 [ 16 1) BASIC WIND SPEED = 110 MPH LTS V.
LSTA18 2%4 LADDER BEAM . :HEADER THE SP4/6 @ 48 O.CC 3 X 3 X 1/8" WASHER = -8 \ _ .'\/"16" = o
SUPPORTIVE 2x10 SYP #2 1050 1.6 2.) WIND EXPOSURE =B \ | lj\ o \\’Q\LU
2 - L\ | e :
NAIL SHEATHING TO HEADER AND TOP 212 SYP #2 975 16 3.) WIND IMPORTANCE FACTOR = 1.0 &-\f 1 \Y\\s ‘
PLATE WITH 8d AT 3" O.C. FOR UPLIFT 4.) BUILDING CATEGORY = II \ 0
(2) 2X12 SYP #2 MIN. = o g aer i L 5.) ROOF ANGLE = 10-45 DEGREES
B i (7) 131 x 3 1/4" GUN NAILS SP4/6 @ 48" O.C. (UN.O.) (7) .131 x 3 1/4" GUN NAILS LSL | TIMBERSTRAND | 1700 1.7 =
il ! OB NALED TR HEAGER @ ( D THRUL HERDER 6.) MEAN ROOF HEIGHT = <30 FT
INTO KING STUD INTO KING STUD LVL MICROLAM 2900 2.0 7.) INTERNAL PRESSURE COEFFICIENT = N/A (ENCLOSED BUILDING)
3 |
4 SIMPSON H2.5A U.N.O. 1 PSL PARALAM 2900 20 8.) COMPONENTS AND CLADDING DESIGN WIND PRESSURES (TABLE R301 .2(2)) : - :
[ SEE STRUCTURAL PLAN = 7 A S Is:ac Construction
: e :- o Zone |Effective Wind Area (ft2)
SIMPSON HUS412 MIN. 10 [ = = 10 100
SEE STRUCTURAL FLAN N i 1 =
/ 3 SIMPSON LSTSLB'S ; K 2 : : : : : : 5 O 2 1 19.9 -21.8 |18.1 |-18.1
1-ONE SIDE, 2- ' 0 i < - -
i EOPPOSITE SIDE) EA. SUPPORTIVE 1 1 1 g =) 2 19.9 255 [18.1 |-21.8 \'iCtOI'CS Gara e
(4)-2x4 SPF #2 NAILED NAILED WITH 14-10d COLUMN b e e e e ot bt m w 2 O'hg -40.6 -40.6 g
TOGETHER W/2-16d NAILS) Q= 3 |199|-25.5 181 |-21.8
NAILS AT 16" O.C. CRIPPLES IF REQUIRED 8 i ﬂ 3 O'hg 683 424
PR EEERIER e ) SUPPORTIVE POST TO BEA ZoF 2x6 SYP #2 GARAGE DOOR BUCK ATTACHMENT - arelEs e Tona
— . a % < ATTACH GARAGE DOOR BUCK TO STUD PACK AT 5 1 bB v29.1 18.5 -22 .G
BEAM MID-WALL CONNECTION Q_ETA“_ DETAIL FOR SINGLE BEAM (2) SIMPGSdOT% li:|SEE\AD2I;R (5).131 x 3 1/4" GUN NAILS QP g Eéﬁiéﬁ'soﬁﬁfﬁﬁ?ﬁaﬁﬁ"&“&%ﬁaﬁ?aﬁ"ﬁ 8 |-29. 5 |-22. ADDRESS: y s
SCALE: N.T.S Wi {84 TOE NAILED THRU SILL wSo COUNTERSUNK. HORIZONTAL JAMBS DO NOT oo A Windows 1518 T84 Cdumbia County, Florida
SCALE: N.T.S. tLles AND (8) -16d TO POST INTO JACK STUD U.N.O. x>5 TRANSFER LOAD. CENTER LAG SCREWS OR ‘ '
E2Z STAGGER 16d NAILS OR (2) ROWS OF .131 x 3 1/4" Worst Case Mark Di PE
(2) 2X12 SYP #2 MIN. 2% GN PER TABLE BELOW: (Zone 5, 10 ft2) irk Uisosway r.k.
SEE STRUCTURAL PLAN 6X6 SYP #2 POST 2o< = P.O. Box 868
SIMPSON SE= DOOR WIDTH | 3/8" x 4* LAG | ..,15d JERESINE O 97 Garege Door_116.5 |22 i i
LSTA24 o A S | N W . — N WL AN =ge] STAGGER | .131x 3 1/4" GN 16x7 Garage Door |18.5 |-21.0 Lake Clty, Florida 32056
SUPFORTWEREAM=——x. = (e g A B e FOR R 0 = 0 Bt Tl S [ e RN s o e WA Phoie: (386) 754 - 5419
P H k) i s 8'-10' 24" 0.C. 5" 0.C. 5" 0.C. ole: (386) -
IF BEAM JOINT IS AT X K X gR® J Fa: (386) 269 - 4871
POST CONNECTION, h H ¥ WwzT 11~ 15' 18"0c. | 4*0cC 40c.
INSTALL ONE SIMPSON 2 NOTE: Ll i &N g = 2 T 5 PRINTED DATE:
LETniRoN N TYPICAL STRAPPING (U.N.0.) sms 16'-18 i¢ocC. | oc Foc. Wl el
(SEE STRUCTURAL PLAN) DESIGN LOADS il
b i ¥ DRAWI BY: CHECKED BY:
LR SIMPSON ABU POST BASE ¥ ¥ ¥ FLOOR 40 PSF (ALL OTHER DWELLING ROOMS) Divid Dacibiy
w/ (12) - 16d & 5/8" x 10" |
ANCHOR BOLT I 30 PSF (SLEEPING ROOMS)
30 PSF (ATTICS WITH STORAGE)
NAIL THRU 2x4 INTO (1) 2X6 SPF #2 SILL UP TO 7:~6: U.N.O. 2x6SYP #2 DOOR BUCK 10 PSF (ATTICS WITHOUT STORAGE, <3:12) FINALSDATE:
BEAM Wid-16d (2) 2X4 SPF #2 SILL UP TO 7-8" U.N.O. ROOF 20 PSF (FLAT OR <4:12 /07
peiEsolibEk (1) 2X4 SPF #2 SILL UP TO 51" U.N.O. o ( 112) 02 / My
g%?%%?ﬁéﬁ%ﬁw gﬁrgg :-‘éllgg,]zvohi 242 PT. \ (I (FOR: 120 MPH, 10'-0" WALL HEIGHT U.N.O.) ' 16 PSF (4:12 TO <12:12) - - [‘ ﬂ Y JOB NUMBER:
POST Ui} .
BEAM MAY BEATTACHEDIN SEE FOOTING DETAILS 12 PSF (12:12 AND GREATER) 705017
THOD SHOW
ETPERVETD TYPICAL 1 STORY HEADER STRAPING DETAIL STAIRS 40 PSF (ONE & TWO FAMILY DWELLINGS) YRAWING NUMBER
TYPICAL PORCH POST DETAIL N EADER STRAPING DETAIL GARAGE DOOR BUCK INSTALLATION DETAIL
BEAM CORNER CONNECTION. DETAIL SUPPORTIVE CENTER POST TO BEMM DETAIL e g e it SCALE: 1/2" = { g T SOIL BEARING CAPACITY 1000PSF S-1
SCALE: N.T.S. SCALE: N.T.S. : B NOT IN FLOOD ZONE (BUILDER TO VERIFY)

OF 2 SHEETS

i Il




REVEIONS

6"X6" W1.4XW1.4 WW.M. PLACED AT 2"
DEPTH ON CHAIRS OR FIBERMESH CONCRETE

4" CONCRETE SLAB
/ 3000 - PSI AT 28 DAYS

18"

6 MIL VAPOR BARRIER
WITHE"LAPS SEALED e e e e mmm———m—— = — =

WITH POLY TAPE ARCHECTURAL DESIGN SOFTWARE

TERMITE TREATED
COMPACTED FILL

(2) #5 CONTINUOUS

USE H2.5A (480ib) FOR ALL TRUSS TO WALL FRAME AND PORCH BEAM
CONNECTIONS UNLESS NOTED OTHERWISE

/F1\ MONOLITHIC FOOTING

S-2/ SCALE: 1/2"= 10"

MSTA30, 10-10d (1700Ib) ‘—/

______ SWe=1.00 SWS =3.0° SWS = 5.5' (6) NAILS EACH SIDE OF STUD
g o | | i) | [N | osteoar (OR STRAP STUD TO HEADER 20-10d)

4" CONCRETE FLOOR SLAB REINFORCED WITH
6X6-1.4/1.4 WELDED WIRE MESH PLACED ON CHAIRS
AT 1 1/2" DEPTH OR FIBER MESH CONCRETE, 6-MIL
POLY VAPOR BARRIER WITH 6" LAPS SEALED WITH

&2

6"X6" W1.4XW1.4 WW.M. PLACED AT 2"
DEPTH ON CHAIRS OR FIBERMESH CONCRETE

1
1
1
1
1
]
1
1
1
]
[}
1
|
|
1
1
1
1
1
1
[}
1
1
1
[}
1
1
1
|
|
|
|
I
1
1
1
[}
1
1
1
I
1
POCKET 4" CONCRETE SLAB :
3000 - PSI AT 28 DAYS !
i - \
4 |
1
I
]
1
]
1
I
1
1
]
]
1
]
]
1
[}
1
]
1
[}
]
]
]
]
I
I
I
|
I
|
|
|
|
|
1
[}
¥
1
]
]
]
I
]
]

SWS = 3.0

GARAGE DOOR POLY TAPE OVER TERMITE-TREATED AND COMPACTED FILL
| 5 @ ' " LTT208, 10-16d (1750Ib)
4 0" AFF =5 3 ﬁ; _ Av ﬁﬁ'&‘é@‘é&%&"&%?&%ﬂé’.ﬁs“at?"éfg?}'ri,‘\l
u 1! 3
1! ; |
i 2 T
o : E |
E: i ALTERNATE WALL TIE CONNECTION WHERE
%i i THREADED ROD CANNOT BE PLACED IN WA_L.
m b b 1 SCALE: 1/2" = 1'-0"
F4\ GARA d
@ SCALE: 1/2" i’i o
|
N w

4||'

WINDLOAD EIGINEER: Mark Disosway,
PE No.53915,?0B 868, Lake City, FL
32056, 386-75-5419

18"

6 MIL VAPOR B,
WITH 6" LAPS S
WITH POLY TAPE

DIMENSIONS:

Stated dimensins supercede scaled
dimensions. Rfer all questions to
Mark Disosway, P.E. for resolution.
Do not procee: without clarification.

TERMITE TREATED
COMPACTED FILL

(2) #5 CONTINUOUS

COPYRIGHTSAND PROPERTY RIGHTS:
Mark Disosway P.E. hereby expressly reserves
its common lav copyrights and property right in
these instrumets of service. This document is
not to be reprduced, altered or copied in any
form or manne without first the express written
permission an¢consent of Mark Disosway.

FOUNDATION PLAN

SCALE: 1/4" = 1'-0"
DIMENSIONS ON STRUCTURAL SHEETS

ﬂz_g\ GARAGE CURB FOOTING ARE NOT EXACT. REFER TO ARCHITECTURAL

FLOOR PLAN FOR ACTUAL DIMENSIONS
\S-2/ scaE:12= 10"

3.0°

(2) 2X12X10',2J 2K (2) 2X12X10°,2J 2K CERTIFICATI(N: | hereby certify that | have

examined this lan, and that the applicable
portions of theslan, relating to wind engineering
comply with setion R301.2.1, florida building
code residentid 2004, to the best of my

SEE W58 SEE W58 knowledge.

LIMITATION: his design is valid for one
building, at speified location.

SWsS

SWS =3.0"

NARK DISOSWAY

P.E. 53915
SIRUCTURAL PLAN THREADED ROD LEGEND TOTAL SHEAR WALL SEGMENTS Tl
3 X3 X 1/8" WASHER Wyy/ 1/2° HEX NUT : SWS = 0.0' INDICATES SHEAR WALL SEGMENTS \;'3\ \\X A
BRI e e = @ INDICATES LOCATION OF: REQ,UJRED ACT,UAL \\\W“\: \! \
NOTE: SRR /7 CRIPPLES STRUCTURAL PLAN NOTES 1ST FLOOR 1/2" A307 ALL THREADED ROD TRANSVERSE |26.8 28.5 WY
THIS PORTAL FRAME IS DESIGNED FOR NARROW WALL SEGMENTS w/ 6:1 ASPECT S| LONGITUDINAL | 24.4' 46.5' \
RATIO MAX SUCH AS BESIDE FRONT LOAD GARAGE DOORS. o L =—
= = DEAD WOOD FOR GYP. HEADER SHALL BE A MINIMUM OF (2) 2X12 SYP#2 (U.N.O.) NE FLODR 115 A307 AL L THREADED ROD
. . [ HEADER WALL BOARD (OPTIONAL)
3X 3 X 1/8* WASHER wi 1/2" HEX NUT O G ALL LOAD BEARING FRAME WALL HEADERS _ .
TR e SN-2  SHALL HAVE (1) JACK STUD & (1) KING STUD Isaac Construction
: EACH SIDE (U.N.O.
NOTE: DO NOT BUILT UP WITH 12dS COMMON NAILS @ (3) 2X4 SPF #2 JACK STUD$ ZX6 TOP JAMB (NON N sTRUCTURAL) ( ) HEAQ—E—R LEGE—Q
. PLIT WOQD 16" 0.C. ALONG EACH EDGE
Zifp Tsigﬁmame FILLER SPLILWOQ if v SE (1) 2X4 SPF #2 KING STUD DIMENSIONS ON STRUCTURAL SHEETS
::m ! B T, e SN-3 ARE NOT EXACT. REFER TO ARCHITECTURAL (2) 2X12X0',1J 1K f@————HEADER/BEAM CALL-OUT (U.N.O.)
2X6 TOP JAMB (NON STRUCTURAL) CORNER NEXT TO il g COMMON NAILS IN 3* GRID PATTERN IN FEOOR AR ORACTUAL DIMENSIONS F T 113 Vidores Garage
5 FULLY SHEATHED j‘l y {  HEADER AND 3' O.C. IN ALL FRAMING L NUMBER OF KING STUDS (FULL LENGTH)
EESJSSS ﬂiﬂ”.'ﬂ?-?ﬂ?‘f ﬁi-Er?E‘QLTT‘N“ g EVR%ﬁEED(é?mER i : e PERMANENT TRUSS BRACING IS TO BE INSTALLED AT ————NUMBER OF JACK STUDS (UNDER HEADER)
L e b D T G o =" LOCATIONS AS SHOWN ON THE SEALED TRUSS DRAWINGS.
(STUD, AND SILLS) (TYP.) 2 € [~ FOR A PANEL SPLICE (IF NEEDED), PANEL 2X4/6 SPF #2 3J & 1K SN-4 LATERAL BRACING IS TO BE RESTRAINED PER BCSI1-03, L SPAN OF HEADER _
/1 : : o *l* b EDGES SHALL BE BLOCKED w/ (2] 2X4, AND 2X6 SYP #2 JAMB CONTIUOUS FLOOR TGy LOCATED AS SHOWWN BCS'_BL BCS'"BZ, & BCSI-B3. BCS'-B1, BCSI-B2, & BCS'*‘B?’ ADDR]‘.‘.SS
N 2X6 SYP #2 JAMB CONTIUOUS FLOOR TO TOP & " y OCCUR WITHIN 24" OF MID-HEIGHT. 2X_'S TOP OF HEADER (2) 12d @ 6" O.C. IN ARE FURNISHED BY THE TRUSS SUPPLIER, WITH THE SEALED SIZE OF HEADER MATERIAL Colunbia County, Florida
- OF HEADER (2) 12d @ 6" O.C. IN JACK STUDS & MINIMUM WIDTH I i MUST BE STITCH NAILED TOGETHER WITH JACK STUDS & 1 1/2" GRID IN HEADER TRUSS PACKAGE NUMBER OF PLIES IN HEADER
11/2" GRID IN HEADER g }g. ng.j. 3.‘3" m'ﬁt g i (2) 12dS @ 3" 0.C. _ Mark Disosway P.E.
" " 1" d 2X4/6 SPF #2
1/2" A307 ROD THREADED AT ENDS OR = 20 TOR G VigL: ¥ ; WALL LEGEND FO. Box.868
1/2* ALL THREADED GALV. ROD @ 54" (6:1 ASPECT RATIO MAXL}, T —— 716" 0sB Lake Gty, Florida 32056
0.C. (U.N.O.) EPOXY INTO SLAB OR ik 1/2" A307 ROD THREAGDER AT ENDS OR Phone (386) 754 -
FOOTING w/ SIMPSON "SET" EPOXY OR 1l {,— 1/2" A307 ROD THREADEL] AT ENDS OR 1/2" ALL 1/2* ALL THREADED GAa1\| ROD @ 54" SWS = 0.0' ) (386) 0419
"ACRYLIC TIE" EPOXY SHALL COVER L1 THREADED GALV. ROD @|5-4" 0.C. (U.N.O.) 0.C. (U.N.0.) EPOXY INNTOlSLAB OR - SO Fax: 386) 269 - 4871
BOLT TO TOP OF PLATE | LT  EPOXY INTO SLAB OR FOPTING 6" EMBEDMENT FOOTING 6' EMBEDME|ENT jw/ SIMPSON FROISINALL
]' w/ SIMPSON "SET" EPOXY|OR "ACRYLIC TIE" "SET" EPOXY OR "ACRRy| |E TIE* EPOXY >RINTED DATE:
SECTION DETAIL il 14 EPOXY SHALL COVER BOLT TO TOP OF PLATE SHALL COVER BOLT T¢ro TP OF PLATE Miy 07, 2007
X DRAWN B": CHECKED BY:
FOUNDATION FOUNDATION ik il David Disosvay
W58 - PORTAL FRAME SHEARWALL DETAIL Nl oo L L
- Esss i 1 4 SEE DETAILS ON SHEET S-1
SCALE: 1/2"=1-0" OUTSIDE ELEVATION DL ELLY AT FINALS DATE:
02 / May .07
IBW 2ND FLOOR INTERIOR BEARING WALLS
St SEE DETAILS ON SHEET S-1 JOB NUMBER:
705017
DR\WING NUMBER
CONNECTIONS, WALL, & HEADER DESIGN IS BASED
ON REACTIONS & UPLIFTS FROM TRUSS ENGINEERING S_z
FURNISHED BY BUILDER. ANDERSON TRUSS
JOB #7-137

0F 2 SHEETS

o ialbunte o R N | T R



	001
	002
	003

